
Lösung: 
 

 
 
 
 
 
 

a) 

Höhe im gls △: 
  

h△ = √27 cm  = 5,2 cm 
 
 
Höhe h in der Pyramide:  
 
h² = h△² – 3² cm = 18 cm² 

  h = √18 cm = 4,24 cm 
 

b+e) 

 

c) 
VPyramide = ⅓ · AG · h = ⅓ · 6² cm² · 4,24 cm = 50,88 cm³ 
M = 4 · A△ = 4 · 0,5 · 6 cm · 5,2 cm = 62,4 cm² 

d) 
 
 
 
 
 
 
 
 
 

f) 

|EF| = 3 cm (Begründung mit zentrischer Streckung) 

h* = 2,12 cm (Begründung mit zentrischer Streckung) 
VEFGHM = ⅓ · 3² cm² · 2,12 cm = 6,36 cm³ 
VEFGHM / VABCDS = 6,36 : 50,88 = 0,125 ≙ 12,5 % 

 


